Conic Section: Ellipse - Class XI

Related Questions with Solutions

Questions

Quetion: 01
A focus of an ellipse is at the origin. The directrix is the line x = 4 and the

eccentricity is — Then the length of the semi-major axis is

Solutions

Solution: 01

Focus is O[0, 0] and the directrix is x = 4, which cuts the axis [the axis passes
through the focus and is perpendicular to the directrix so, X-axis here] at Z. Then
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So, the length of the semi-major axis is §

Correct Options

Answer:01
Correct Options: D



